V7 WMaths Knowledae Oraaviser Topic 5: Probability essentials

What must T be able to do? Key vocabulary
0 Learw and use the correct termivology to determive the Event A set of outcomes of a probability event
likelihood of an event Outcome A result of a probability experiment
Sparx M55 Certain An event that has a likelihood of certain
[ Tdentify where events lie on a probability scale and be has a probability of 1.
able o correctly place events. Iwmpossible | An eveut that has a likelihood of
0 Calewlate the probability of an event happening using impossible nas a probability of D.
fractiovs, decimals or percevtanes Probability
Sparx Ma3% The probability of an event has a
U Tdentify that all probabilities of an evewt happeving or mathematical value, this is represented
not happening sum o 1. as a fractiow, decimal or percevtace.

Likelihood of an event

You need to be familiar with the termivology used to describe the likelihood of an event. Below are some key words
associated with the likelihood of events:

Twmpossible Unlikely Even Chavce Likely Certain

e.0. If I roll a fair ¢ sided dice, what is +he probability of:

i a) rolling an odd wamber? This is even chance as they the same number of even and odd vumbers on a six sided dice.

b) rolling a 107 This is impossible as the only numbers that could appear are 1, 2, 3, 4, 5 of .

Lo rolling a vamber less +hav 77 This is certain as all the wambers on a six sided dice are less thaw 7. i

Probability scale i

The terminoloay used +o describe the likelihood of an evewt are labels ow a probability scale.

Impossible Unlikely Even chance ( Certain
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The probability of an impossible event is D

The probability of an even chauce event is Y2 or 0.5 or 50%%

The probability of a certain eveut is 1 or 100%%

There are vio defivitive probabilities for ulikely or likely events as these descriptors can ranae from between impossible to
even chance and then even chance +o certain,

Probability of an event i

Caleulating the probability of a sivgle event means the answer will result in a fraction, decimal or percentage, from 0 +o 1
(both are nclusive).

e.0. Tf T have 12 cubes in a bag, 4 are red, 2 are vellow and ¢ are green.

a) What is the probability of choosing a vellow cube?
There are 2. vellow cubes out of a total of 12 cubes so the probability is 12—2

k) What is the probability of choosing a cube that isu't yellow?

To calenlate the probability of event not happeving we subtract the probability that is does from 1
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